Pbar Jacker

* From measurements using sync light, we found
that at 980GeV, the growth rate Is

- 2.6 pi mm mrad/min
- Presently turned on for 60s at flattop.
- Expect ~3 pi growth for all pbar bunches.

— Cannot use sync light because mirror is not inserted
at this time.

* Hope to use IPM because we can average.
* FW has some issues



Pbar Beam Blowup
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For store 6412.
Looking at pbar
vert emittance
bunch 1 increased
by 3 pi while
bunch 6 became
a little bit smaller!

The emittance
growth does NOT
make sense.



Array Data of Growth (Store 6412)
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Difference
before and
after jacking.
Bunch 36 is
pbar bunch 1.

Makes no
sense.



Sync light and FW compared. EOS
expt (Store 5824)

Control Panel

File Preferencies Help

Start Index End Index Node

3\ Neme

apply new data format size of averaging window

ﬁ Remove row Put walu

v’ show gap between lZ2-bunches

1 4.055
ntrol Panel

2 2.593

File Preferencies Help
la 5.941 \ Hame Start Index End Index Hode
s 3.373 % [Tine
6 4.514

¥ tifuveni - |36 71 Tewld (DCEOG | Even
7 4.180 e
3 4.682 / Hour Hin Sec Honth
19 2.885 T
: +|loo > Jm o~ 4
10 2.476 ;
11 54190 ZIE Ml
|12 O 4 O data format: [#44#£0.000
113 3.562 Alwin Tollestrup format (9999}
|14 5.451 | Filtering: Min Hax: |1 @ Remowe row
515 500 A'Esﬁ'f: 2D Mowntain Range ASCII Slice Fic

Ll e
3016 1 (2|3 (4|5 |6 (7|8 |5 |Ll0f11)1l2 13(14/15(16|17|18|19|20|21|22| 23| 24 252629 28 2SI SNISNSSISSISAISS, | Start. time: 01/04/08 07:15:29 (944 Finish time:

w’ Include header information

=laix|

GET DATA!

v/ Show difference from first row

set max and min

gave a3 JPEG

next save to file

previous | put data to clipboard

Array indexValue

36 7.606

37 5.848

38 4.203

39 8.560

40 8.125

41 3.737

4z 9.898

43 13.404
22 19:15
45 « 31

46 8.628

47 11.835

48 5.977

49,

S0 36[37|38]39 41| 42| 43|
51

52

apply new data formet | size of averaging window |l

| Include header information

/| show wap hetween 12-bunches

=10l =]

Units Description

7,3 vl muwr | [TFW Norm ¥er Emitrtance

T1/T2 from SDA

Day Year Relative get t2 now
~ | |z2008 ~ 1 ~ | hours before T2 -
~||z008 -1 > now i

do averaging!

GET

/| Show difference from first row

Pur walue

01/04/08 07:22:54 (B22) | 8Set current time

Device: set max and nin

save as JPEG | save as Video

45, ! !!HII




Previous pictures are typical with

FW

* See logbook entries
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